
【Buffon's Needle】

※ Sctter needles on parallel lines and observe how the approximate value of pi can be obtained
from the ratio of needles that intersect the parallel lines.
pi ＝ (Total number of scattered needles )÷(Number of needles intersecting parallel lines)
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［Outline］
Scatter the needles to find the approxinate value of pi.
Draw parallel lines at equal intervals and scatter needles randomly over them.
The approximate value of pi can be obtained from the ratio of the number of scattered needles

to the number of needles that intersected the parallel lines.
Let's explain the reason mathematically.


